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Q.1: P1: understanding concepts skills

TSy 8% &‘db .C‘.L’J.AQ &}_39)&?' JM%‘ Mark(s): 5/5
5095/2023 il Lol

What does the process of breaking a vector into its vertical and horizontal
components called?

Learning Outcomes Covered

o PHY.6.1.01.016

Vector resolution

Vector addition

Ol pox

Vector subtraction



Olg=iall 7y

Vector multiplication

Olgniall Qo




Q.2: P2: centripetal acceleration Mark(s): 5/5

Two cars with equal masses move in the same speed and enter two curves with two
different radiuses in which ri= 2r; as shown in the figure. Which car has greater
centripetal acceleration?

r= 2r; Guso .I'p.ﬂ_l.ar.n_' L J.b."')'?&qa.u' RN Ve S L})’t::-..ﬁ_g s&:,.J\ MMI&QE&:}MAUU)@ﬂﬁ
75T (53550 Bl Lgald Bylews (5T . K21 (§ idg0 92 LS

&

Learning Outcomes Covered

o PHY.6.1.01.017
o PHY.6.1.02.008



The black car
c‘.)j.«.J\ 5)[5.«.«.”

The white car
e Ll BJL.{-‘“J‘

Both have the same centripetal acceleration
S35yl ELuctll i Lgpd ¢3! S

Cannot be determined
doddl oS Y




Q.3: P2: horizontally launched projectile Mark(s): 5/5

Salma throws a stone horizontally from the top of a cliff that is 70 m high. How
long does it take the stone to reach the bottom of the cliff?

Jgosll yooel ddysiun A 8ol o (70 m) delisyl dlu Ly el oo B> a8 alew (35

9,2l i@ Jl

s N Al lBally Sty (e pjly Lap Sl
You may use any of the given constants and equations where needed:
a,=g=-9.8m/s

A, = Acos@ v, = v;cos8
Learning Outcomes Covered —
o PHY.6.1.01.021
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14.3 s

1.2s




Q.4: P2:

inclind plane Mark(s): 5/5

A box of weight 20 N lies at rest on a slope which is at 30° to the horizontal. What
is the coefficient of the static friction between the box and the surface?

Y Jolao o .33 e 30° dislyy Jilo prlaws (de OgSuw Aoy 20 N 43)9 Bgbive yiiuw
T zkaadly Godiuall c Sl

Learning Outcomes Covered

o PHY.6.1.02.015
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2.0

0.32




Q.5: P2:

projctile Mark(s): 5/5

In the figure below, the red ball was dropped with no initial velocity while the
blue ball was given an initial horizontal velocity. What does the green vectors
represent?

AS1a) 48] e £18)301 8,801 30 Loy &8I0l A w 9y shiasedl B,SU1 Cdaiiu ¢ JSaJ
el a2l lgaeiall Jiad 13k
@®--&—

Learning Outcomes Covered

o PHY.6.1.01.019
o PHY.6.1.02.008

The ball’s vertical velocity



The ball’'s horizontal velocity
da9y! 8,51 de

The ball’'s vertical acceleration

L“S.)}o.a.“ BJS.\\ @Luu

The ball’'s horizontal acceleration
L_?B.él’i 5,SJ1 &olud



Q.6: P2: the law of universal gravitation

The figures below show pairs of balls all made of the same material, which of the
following pair of balls has the largest gravitational force between them?

598 ST g AW LSl 0 7295 (ST eBalall Ll (y0 A giuaall SN o L1yl A JEYT 7z g3
Tdodl>

Learning Outcomes Covered

o PHY.6.1.02.012
o PHY.6.1.02.015

Mark(s): 5/5







Q.7: P1: observation and comparing skills Mark(s): 5/5

Which of the following is not a projectile?
Tlgdae (b lew @

Learning Outcomes Covered

o PHY.6.1.01.019
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Q.8: P1: interpreting data Mark(s): 5/5

Based on the coefficient of frictions listed on the table, choose the correct relation
between the coefficient of static and kinetic friction for all surfaces?

Syl BB Jalas (9 dovimall @83l sl ¢ Jodadl § danydall G| Jolrs @b s Tolazs)
Cadacl muasnd (3 oSl AEGYI Jalaag

Coefficient of static Coefficient of
Surfaces s = e
friction kinetic friction
Caslt iron on cast iron 11 015
Glass on glass 0.94 04
Leather on oak 0.61 0.52
Monstick coating on steel 0.04 0.04



Ms = Mk

Ms > Mk




Q.9: P1: observing and analyzing skills Mark(s): 5/5

Based on the definition of the friction force, which vector of the following represents the
kinetic friction force?
TS UK 598 Jhay (o Lew daio (gl ¢ Y 595 Cinyal e 3Ly
C
Motion direction
© 48 jall slas)
A
. B N 1

Learning Outcomes Covered

o PHY.6.1.01.016
o PHY.6.1.02.005







Q.10: P2: Forces Mark(s): 5/5

What does force C represent?
UL Ao gall C 5ol Jied 13k

Learning Outcomes Covered

o PHY.6.1.01.017
o PHY.6.1.01.026
o PHY.6.1.02.008

resultant force
dua=all B}B_H



equilibrant
Oyl gl 849

normal force

&3.)\9«0.1.“ B}E.N

tension force
SUAIRIY




Q.11: P1

: applying skills Mark(s): 5/5

Which body of the following is not in equilibrium situation?
TOIS D> § pud JUN o0 S

A plate placed on a dining table.

Uylb mhaw e oo g0 e

A box moving on a smooth surface with constant velocity

<

el g e A1 Ay Syxy okt

A bike slows down when the rider applies the brakes.

Jolyl Bl (3ebay Locie (ol drlyd



A robe is being pulled from both sides by equal and opposite frces
rinSlaieg eaglute (x598) dylall DS (ye o Jo



Q.12: P2: Kepler's law Mark(s): 5/5

J_

Based on Kepler's second law, which area/s of the following is the biggest?

TAST AL Olluall (51 ¢ LI LS O 9ila) Ladg

1

Planet

Learning Outcomes Covered

o PHY.6.1.02.012
o PHY.6.1.02.015

All areas are equal



Areas (C and E) wl>luwll

Area (D) dsluwll

Areas (A and B) wl>luwl!




Q.13: P1: reading graphs skill Mark(s): 5/5

Vector (F) is shown in the coordinate system below, what is the sign of (F,) and
(Fy)?

S (Fy)3 (Fu) 0 S B)Lis] Lo ¢ oLl colidlasyi allas & o9 (F) doeiall

Jl”‘l"

5

Learning Outcomes Covered

o PHY.6.1.01.016

Positive Negative
9o Al




Negative Positive
b Az go
Negative Negative
Il Jlw
Positive Positive
e e




Q.14: P2: coefficient of friction Mark(s): 5/5

Maryam uses a horizontal force of 30.0 N to slide a 12.0 kg wooden crate across a
floor at a constant velocity, what is the coefficient of kinetic friction between the
crate and the floor?

de iy o)) de 12.0 kg dilliS (qdis Bydiuo loymd 30.0 N (S5lud 4l Bgd oopn pudeiind
T2y Bydiuall o (=l DY Jolas Lo iy

A Al clielly Sl G pils Ly (il
You may use any of the given constants and equations where needed:
a,=g=-98m/s

Learning Outcomes Covered

o PHY.6.1.02.008
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0.4

0.33




Q.15: P1: normal force

A cat with a mass of 12.0 kg, slides down the banister. If the banister makes an
angle of 30.0° with the horizontal, what is the normal force between the cat and
the banister?

Lad <3891 o 30.07 dagly iy (3l OB 13] - cpiablll e Jaad (J] 12,0 kg LgliS dlab (3055
Toprbdly Jadll o disgeall 44l

A JEN Al ) SlBally Syl e aily Lep Gl
You may use any of the given constants and equations where needed:

a,=g=-98m/s*

A, = Acos8 | v, = v;rosl

Learning Outcomes Covered

o PHY.6.1.02.005
o PHY.6.1.02.008

Mark(s): 5/5



102 N

122 N

117.6 N

58.8 N




Q.16: P2: centripetal acceleration Mark(s): 5/5

A child is sitting on a merry-go-round 0.7 m from the centre. If the velocity of the
ride is 1.5 m/s, what is the centripetal acceleration of the child?

£l Ld ¢ 1.5 M/s dualdl de e CI813] 5S5all 00 0.7 M das e 8)lodl Lalll § Jabo o
T Jakall (5551

Learning Outcomes Covered

o PHY.6.1.01.019
o PHY.6.1.01.026
o PHY.6.1.02.008



1.1 m/s?

0.33 m/s?




